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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before opening

the Question Booklet.

1. Immediately after the commencement of the
examination, you should check that this test booklet
does not have any unprinted or torn or missing items
or test booklet series (A /B/C/ D) not mentioned. If, so,
get it replaced by a complete test booklet from the
invigilator.

2. Answers are to be marked only in the given OMR
Answer Sheet,

3. There are 60 questions in this test booklet. All are
compulsory.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet. Donot
mark ‘¢’ or ‘X’ in the OMR Answer Sheet.

5. All questions carry equal marks.
6. Answers other than those marked by Black Ball Point
Pen will not be evaluated.

7. Rough work can be done in the rough sheet appended
in the test BOOKLET at the end but not in the OMR
Answer Sheet/ loose paper.

8. The OMR Answer Sheet is not supposed to be folded
or mutilated in any way.

9. You are also not supposed to write anything on the
reverse of the OMR Answer Sheet.

10.Please return the OMR Answer Sheet only to the
invigilator after the completion of examination. You
can retain the test booklet, "

PLEASE TURN OVER THE PAGE AND START

ANSWERING.
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ewwd O wLHmb &Hrb r eeLw
Car@ssuul uLsler AB=29 @s.8.,
AD=23 Ge.8., wpmb DR=5 @Qs.8.,
eraflé) r -ém wHUy

A
S
7N
R 6= P
-
C Q B
(A) 18 Qs.5.
11 G&.8.
(C) 9@s.5.
(D) 7 @s.b.
Car@ésuucL uLgfle DA wpmb DB
Spfuer alLser QAgr@Csmr@aer
crefléd, ZACB -@ i :

A

(A) 100°

(B) 130°
L 115°
(D) 230°

21 8. ferqperer grllrsred et Gm
eeTeflDp e (HeneT eugeu @prudlen
Ceefl LHpL edeaulL oL Lksdr
wepCGw 10 QF.5. wppbd 6 Qz.8.
HGL. sGprileoa surfss
vweru@ssuul L. srblpsdlen sen
2jerey Ga. 53,

(A) 660

(B) 2640

(C) 5560
10560
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Consider the figure :
Given AB=29 cm, AD=23 cm, DR=5 cm.
If O is the centre of the circle with radius r,

then r equals ;

A
5
Dﬁ
R : P
A
C Q B
(A) 1B cm
(B) 11 cm
(C) 9em X
(D) 7em

Let DA and DB be tangents to the circle as in
the figure, Then £ZACB equals to :

(A) 100°
(B) 130°
€ 115°
(D) 230°

A hollow cylindrical pipe is made up of
copper. It is 2.1 m long. The outer and inner
diameter of the pipe are 10 cm and 6 cm
respectively. The volume of the copper used

to making the pipe in cm? is ;

(A) 660
(B) 2640
(C) 5560
(D) 10560



x 1-x
4. A=(0, 1}, f(x)=x (%J [g] LD D My LD
g(x) = xf(x) erafled,
Sxe A [g(x) ~ (F(9)?] -6 Py :

1
(A) 3

9

(©

o

|

O |

(D)

5. 60 5. wpmd 40 5. e wpapeter @rew(H
Gamyprusar 70 5. @en_ClevafluSled 2 eveman.
Caryrmusefler e sfllldlmps adCr
2_@Tem G& Ly &l e 3G ESG
auaruuun Gsrhsdar sHflsEw
yerefiuflen 2 wirwrengy :

(A) 508
(B) 308
(C) 1208

© s

6. 870 wHPL 258 -k em® GHULECL
cramemne) eu@sGLCurgy BF 3-m
FT&saigw WsLCUAw ere :

51
(B) 102
(C) 52
(D) 104
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1 2

A={0, 1}, f{x}=x(§]r [J-x and

g(x) =1f(x). Then Sxe A [g(x) - (F(x)?] is :

=g

(A)

(B)

olm

L

(€)

O | e

(D)

Two towers of height 60 m and 40 m are
70 m apart. The height of the point of
intersection of the lines joining the top of each
tower to the foot of the opposite tower is :

(A) 50 m
(B) 30m
(C) 120m
(D) 24m

The largest number which divides 870 and
258 leaving remainder 3 in each case is :

(A) 51
(B) 102
(C) 52

(D) 104

P.T.O.



7. AABC, ADEF g dlu @rean® augCeurss
waGaremriusafian sppareyser apeapGu
25 @#.15. wHmb 15 Gs.15. p@h. AABC-éd
e ussslar ferb 9 Qs.5. erafic,
ADEF -6 =igen b5 usssHlen Herb :
(A) 44 Q.8

@ /5.4 @s.18.

(C) 6.4 Qs.15.
(D) 74 Qa.i8.

8. 9% = ; (LLE 5) -& x-ar Bass AW Blens

It is given that the perimeters of two similar
triangles AABC and ADEF are 25 cm and
15 cm respectively. If one side of AABC is
9 cm, then the corresponding side of ADEF is :

(A) 44 cm
(B) 54 cm -
(C) 64 cm

(D) 74 cm

The least positive value of x such that

AL - % = (mod 5) is
(A) 1 (A) 1
2 (B) 2
© 3 © 3
(D) 4 (D) 4
9. &pssrgpd HepGeain  uyeuslen | 9.  If the median of the following frequency
oL fera serey 325 erafla, f, whmib distribution is 32.5, then f, and f, respectively
[ e wHiyser apenpCGu are :
sy
@ec | 0-10 [10-20|20-30 |30-40 | 40-50|50-60 | 60-70 | Guomggis mﬁl 0-10 |10-20 | 20-30 {3040 |40-50 | 50-60 | 60-70 | Total
Qe
::*i Als]|eslu|lpls)2] w Frequency| /y | 5 [ 9 |12 || 3] 2|
(A) 5 wpmw 3 (A) Sand3
(B) 5 wphmid 4 (B) 5and4
@3m¢mma (C) 3and6
(D) 3 wpmwn 4 (D) 3and4
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10.

il.

12.

13.

swUEE WECasTemrd AABC-d), U&SLD
BC-Weén CGugidrer yerefl D yeang

BD = %BC GTEMDEUTD < 6enLo b eTer g

. AD? . .
erafled, 9 — -&m @ :
AB?

9
(B) 7

€) 9
D) 11

3 Q&.8. g1 SjemayeTer G Carer auigeu
Lbg uESESLILL( 2Cs 2T SieTayder
@ Sleamws siby o (HeurssLUBEDS.
salbSlel 2 WiroTeng) :

(A) 3 G&.8.

(B) 6 @&.8.

12 Gg.6.

18 Qlg.i8.

(D)

Qar@éslulL AABC-& PQ||BC srafle

(D) 4

A={1,2 3 4, 5 oppd B={0, 1} erafled,
A-lelmpg B-6@ cumrupssuuBL
Qurggé srrysaien cremmanflsans :

(A) 2

(B) 10

C) 16
32
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10.

11,

12.

13,

In an equilateral triangle AABC, D is a point

1
on the side BC such that BD = EEC.'Ihen

AD? .

the value of 9 is :
—
AB

(A) 5
(B) 7
< 9
(D) 11 2l

A spherical ball of radius 3 cm is melted and
recast into a cone of the same radius. The
height of the cone is :

(A) 3cm
(B) 6cm
(€)
(D)
In the given AABC, if PQ||BC, then the value
of xis :

12 em
18 cm

-
A &
x x+3
s Q
x+2 Jx+1
B C
(A) 1
(B) 2
(C 3
(D) 4
The total number of functions from
A={1,2345)toB={0,1}is:
rF_1
(A) 2
(B) 10
(© 16
(D) 32
P.T.O.



14.

15.

16.

AxB={(x, y) : (x*=3x, V¥ +4y)=(-2,5), «x,
yeR], eafle, A-ddmps B-55
auerumSsLILEDL Ceupphn o payseafier
eTeTentlEens |

(A) 7

(B) 8

(C) 16

@15

900 QumReTHeT 2 anLil (F CFTELiGa
x eTenug GenpurBenw Gummmlsetlier

caneiisans G0, A MBS @
@enm T (hen L GClummenar

CoipbsBrughame flspsse
0.18 erefled, x - i -

(A) 62
@; 162
(C) 262

(D) 462

Qurg eflégb 24 w586 CsramL, @
QumsEsLsTi euflensufien 39 seug
LoHmD 37 Hpeugl e-PULSELES GenGu
o aver elll5D k : 1 erafleh, k -uflenm ol :

(A) 481
O
(C) 888

(D) 936
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14.

15.

16.

If AxB={(x, v) : (x*—3x, ¥ +4y)=(—2, 5),
1, yeR}, then the number of non-empty
relations from A to B is :

(A) 7
(B) 8
(©) 16

(D) 15

Let x be the number of defective items in a
set of 900 items. If the probability of selecting
a defective item from the set is 0.18, then the

value of x is : =

(A) 62
(B) 162
(C©) 262

(D) 462

In a geometric progression with common
ratio 24, if the ratio of 39" term to 37™ term
is k : 1, then the value of k is :

(A) 481
(B) 576
(C) 888

(D) 936



17.

18.

em grgudd 15 Geudrener wH@D
x spOy upgsed e daerar. gmriguied
@os e®  spUY  UBE
&leoL_LLFHaETen flspssararg
Qeuetenemy uUhgH EevLLUFDETen
fepssamauCurd aparpy WLLEG
crafiey, x-am Ly :
(A) 15
(B) 25
(C) 35

- 45

Ernen ppan BUETLBIGET @(h (P
sam_Ludlenpen. (@G@DHSULSWD
Gran® soasdar da_uugpsTen
Habssa : |

@ :
® -
© 3
®

@ mmguie 18 ubFiseT e eTarar. Sl
m eraranfisansutiar Aeuliy Hpd ubgseT
gm SHaly  upos
cgHuugsnarear Hapsse] p RGO
Gogib, @Grewd Haly upssr
Gerssiul L0 Gary gm Heuliyl
upSlenen erRHluuspHsranr Hspssa
9p

8
(A) 2
(B) 4

) 6
O

o ETETEn.

erafley, m -6 ALY :
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18.

19.

17. An urn contains 15 white and x black balls.

If the probability of drawing a black ball is
thrice that of drawing a white ball, then x

equals :

(A) 15
(B) 25
(C) 35
(D) 45

Three fair coins are tossed once. The
probability of getting at least two heads is :

(A)
(B)

(©)

o )~ d=|W k|

(D)

An umn contains 18 balls, out of which it has
m red balls. Let p be the probakility of
drawing a red ball. If 2 more red balls are
added in that urn, now the probability of

drawing a red ball is %,ﬂmnmequals:

(A) 2
(B) 4
€ 6 -
(D) 8

P.T.O.



20.

21.

22.

enLwib O wHpIb rib 1 GF.8. Gererr_
@M uLLfos smHs. Lerafl P-ulbled
Qopy @rav® QarECasr@adt L e
ST igueraraury aueruuupdpg.
AB=OP=2 Q&.8. eraflé®, APAB-eén

sppeTey :

(4) 2

(B) 4
@6

(D) 8

a, b, c erep ppenp eramsafian symaf,

Qe fleva wppd &G wepGu 30, b
pmid 0 erafled, a+c-em wH

(A) 30
(B) 20

@?n

(D) 50

6, 9,12, 15, .... eranp S BSOS

(A) 15
(B) 20
(C) 25

@m
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20. Consider the circle with centre at the origin

2L

22.

O and radius 1 cm. Two tangents are drawn
from P to the circle as in the figure. If
AB=0FP =2 cm, then the perimeter of APAB

(A) 2
(B) 4 i
€ 6 -
(D) 8

Mean, Median and Mode of three numbers
a, b and c are respectively 30, b and 0. Then
the value of a+cis :

(A) 30
(B) 20
(© 70
(D) 50

In the A.P. 6, 9, 12, 15, ...., the value of
By5— a5 18 :

(A) 15

(B) 20

(©) 25

(D) 30



23.

24.

25.

e Bpdcouce u@Hulen
urlueTey % Gugib PQ=24, PR=7

wHmD el LsHer ewwb O erafle,
k -er iy

(A) 2345
6)
(C) 5423
(D) 6875

e® Carursflan sqle Qobs GO
wereulen e Fflssren o hmECEmen D
60° @Gb. CamsHen e s8ufle GmHS!
wenaulen sgsaran @néss GCasrenrid
30° p@b. Caryrsdlen e wgb 50 5.
erefiley, wenauller e wiyb

(A) 75 15.

(B) 100 8.

@ sl Hs6srir eaflensuller grpreug
e mpunden 7 L Ri@ED Bhsreug e piiSe
5 DL IBIELD &LoLb erefle, 12 -eugy 2 mii :
(A) -3

® -2

| 0

) 3
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23.

24.

In the figure if PQ=24, PR=7 and O is the
centre of the circle and the area of the shaded

k
region is E.'I‘heva]uenfkis:

(A) 2345
(B) 4523
(C) 5423
(D) 6875

The angle of elevation of the top of a hill from
the foot of a tower is 60° and the angle of
depression from the top of the tower to the
foot of the hill is 30°, If the tower is 50 m high,
then the height of the hill is :

(A) 75m

(B) 100 m
(C) 125m
(D) 150 m

If 7 times the seventh term of an A.P. is equal
to 5 times the 5" term, then its 12! term is :

P.T.O.



26. m -an erbwWHIEHEH mx(5x—6)+9=0
GTED FEMUT(H FWIWOTE APRISSETL
QupPlapéed ?

(A) 3
(B) 4
O
(D) 6

27. 1.73 8. ewpgpdrer m wallsan @
sligL sSellmbg 50 5. Gsrenweile
Bodpri. seuf s gL sl e dflenw
60° ghp&Caransdla srandpri eraflea,
sl sfer cwpb : (V3 =173 eran
Csmers)

(A) 504315
@ 5173 8
(C) 2538
(D) 26J315.

28. @uen( wrkseT gm GasHar erdCirdi
seorsafle o_erarear. 30° ghp&Caransdd,
20 5./ eflenmg ererrp Geussdlér upere
PEY PHD LrsHar Sl BBH
@ramireugy  wrsfar e iflsg
3 élerrgsefled upps oL fpg.
ber(Hd SiLpeney 60° gHpd&Carammsde
@ram_raug wrifen e sfufler E)mba
wse wrsfler o 5flsEE  uphs
s fpg eeafled, wsed wrsHer
2 Wb

_ @ 120 8

(B) 608

(C) 90 &

(D) 308
X-CMTSE-2024-1/ A
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26.

27.

28.

The value of m so that mx(5x—6)+9=0 has
equal roots is :

(A)
(B)
(€)
(D)

A man 1.73 m tall is standing on ground
50 m away from a building. If the angle of
elevation of the top of the building from
his eyes is 60°, the height of the building is :
(take V3 = 1.73) .

(A) 5043m

(B) 5143m
(C) 25/3m
(D) 26,3m

Two trees are present on either sides of a
pond. A bird flies from the foot of the first
tree to the top of the second tree at a speed of
20 m/s and reaches the top after 3 seconds.
The angle of elevation of bird's flight is 30°.
If the bird again flies from the tep of the
second tree to the top of the first tree, with
an angle of elevation of 60°, then the height
of the first tree is :

(A) 120 m
(B) 60 m

(€) 90 m
(D) 30m



29. @m Quiguie 125 msssqaTrRseT | 29. A box contains 125 watches out of which 110
earerer. @, poe Heoale are in good condition, 12 have minor defects
110 &8&851GEMTEE(@EHLD, Adw and 3 have major defects. Ram will not buy
GeopurLear 12 nsss STk &EsHL0 the watches which have major defects. One
wpp fs Geopur@rer 3 watch is taken out at random, the probability
MEES L ETIRSEED o aarar. HHls that Ram will buy that watch is :
GODUTHLET Falgll NGEESQETTRSET
D GFETUGIT GQUTRISWILLIT, &0
amiuy weapud GMm MHes85QETTLD
CaerpRsBssuuBfng. MésqETTHOS
TTD euNhiGeugparen Blepsse, :
3 3
(A) 135 (A) 15 .
o 2 1z
@ 125 ® 135
110 110
© 15 © 13
113 113
D) 135 @) 135
30. @m aGuld wremefsar Gupmp [ 30. The marks obtained by the students in a class
w &l 16l L et & 6t Spssam_sumpy are recorded as follows :
udefl L érerg. -
W Cilal st
@fley 0-20 |20-40 | 40-60 | 60-80 | 80-100 Marks Range |(0-20 |20-40|40-60|60-80]80-100
| Ben Glavarl
oremadadiénl 5 | 10 | x | 6 | 3 |||No.ofStudents| 5 [ 10| x | 6 | 3
eret gt | &en &

wHlGCuarsetlean ws® w45 erafla,
x-en wdiy :

(A) 8
@~1z
© 21
(D) 45

X-CMTSE-2024-1/ A

1

If the modal mark is 45, then the value of x
is :

(A) 8

(B) 12

(C) 21

(D) 45

P.T.O.



31.

32.

33.

&GWTLD [x : 1776 < x < 1958 opmibd x yang
@ U1 aupLLD) -@len QecuGeussr :
(A) 46

(B) 44
- 45
(D) 48

~ 3 _ 3sinB-4cosh )
An9= 3 TR, Ysing+3c0ss "9 AL :

7
(A) o
=7
=
© 3
20
D) o

P(-1, 2) eremp yenafl Car {55 @
AB -eow 2 U Lmwons 1: 3 erenp eflflzsfled
Gf&flps. A oeng (1, 4) erafle,
B <y emgy
(A) (4. 7)

(=4, =7)

(B
@ (-7, —4)
O (7,4

34. A(a, b), B(b, c) wpmd C(c, a) eremuen
w&GararTid AABC -6 2 F#la6r whHmb
a’+b3+c¥=3abc  erafl®s AABC-em
BH&ECETLH eowwbd G yarg
(a. b c -@Qo gCoad pany Gep erem)
(A) (a®+b’+c, 3abe)

[a®+b3 4+ a+bP+c°
® |3 T 3

(0, 0)
(D) (abe, abc)
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31.

32.

33.

34.

The cardinal number of the set
{x:1776 < x < 1958 and x is a leap year] is :
(A) 46
(B) 44
(C) 45
(D) 48

o3 3sin0—4cosb
If ang = E;thEnﬂ'EvalI.IEDf 451“34'3':{]5&

is:

(A) 37
B 57
(©)

(D)

Rl

If P(—1, 2) divides the line segment AB,
where A is (1, 4), internally in the ratio 1: 3,
then B is :

(A) @47
(B) (—4, -7)
© (-7 -4
(D) (7, 4)

If A(a, b), B(b, c) and C(c, a) are the vertices
of AABC and a*+b? + ¢3=3abc, then the
centroid G of the AABC is : (one of the values
of a, b, ¢ is negative)

(A) (a*+b%+3, 3abe)

a3+b3+c3 aa+h3+::3 3
(B) T 3

(€) (0,0
(D) (abe, abc)




35.

36.

37.

38.

480 B spperayeTer g WECETET auigel
weoallen usshsafiar el 5 & 6
4:3:5 eraflé, wenemllen uFtiueTe,
(A) 2400 52

(B) 3200 .52

(C) 6900 52

@ 9600 152

A (1, 2), B (2, 3), C (3, a) yerefisafla
AB=BC, erafle), a yeng

(A) a=4 myeeg a= -2

(B) a=-4 myebeg a=-2

@ a=4 Sjeeag a=2

(D) a=-4 sdag a=2

9 Bg wrYdTar @@ SLgLFHDEG
45° gppaCsrangdla uyss Hser
S@WEGLULE @ Csriserri
verfidslL HeterTi. geuGeuns Ligulen
SISQ(PLD 6 SBIGD @)HEs Couam(Bib.
sl sdlen 2 5flEE Ceda yawss
Cauamgw ugseflen eramenflsens
(R g =12 SRIGESH)

(A) 12

(B) 9

O

(D) 15

42 5x3.0 S x 2.0 &, uflwrermsamer
2Ll @ BT Gsriguid afgaman
L gamerfeny Qaman® Briuemb ?
(A) 20000 &bl

@ 25200 &bl L i

(€) 25000 eSlC_Lit

(D) 2520 efli_o it
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35.

36.

37.

38.

The perimeter of a triangular plot is 480 m. If
the sides are in the ratio 4 : 3 : 5, then the
area of the plot is :

(A) 2400 m?
(B) 3200 m?
(C) 6900 m?
(D) 9600 m?

Among the points A (1, 2), B (2, 3), C (3, a)
if AB=BC, thenais:
(A) a=4ora=-2
(B)
(C) a=4ora=2
(D)

a=—-4ora=-2
a=—4ora=2

A mason is instructed to build a staircase for
a 9 feet high building with an angle of
elevation 45°. If the width of each step should
be 6 inches, then the number of steps required
to be built to reach the top of the building is :
(1 foot=12 inches) 4

(A) 12
(B) 9
(C) 18
(D) 15

If the dimensions of a water tank are
4.2 mx3.0 mx 2.0 m, then the capacity of
the tank is : ~

(A) 20000 litres
(B) 25200 litres
(C) 25000 litres
(D) 2520 litres

P.T.O.



39.

41.

@m Bearabud Gprrs FDUSDE HGen
e #flle @mps @rev® sblseer
sbusflén  @ouppd serde
emenpUUL_(Pererg. 6 5. Beraperer @
sb9leén ghps&Casrenrd 30° G-
60° gpp&Caremb GsrarL wWHEDPTH
sbulen ferbd srans

(A) 338

(B) 638
(C) 3.8

@ 238

1.6 8. x 08 8 x 3 Qb eTayEDaTE
QaramL @m &sar CFueusd
e me&sLUUL®, APu sar sgTREaTS
urr&suUBEDS. geu Gl eumenhlen
43 Q&8 erey
QerewL. erssmen APl e sHTRISET
2 (HEUT&ESETD 7

(A) 6000

ppenaell L b

seupren smpeopn Csiey Clsls.

(A) P(A) eremug Qaupmésewrd A-en
S Ps@saand eafid, n[P(P(A))]=
n(A) +1.

Qeupps sewnoreng sanéEssrGer
£ L SemTid.

(B)

©

& 60T LD {x:x=%,meﬂ,nEN

WwHmId 2 < n < 5} GH Pig6yD SewTd

PG
(D) AcCuppb BgC, erafléy, AABC C.
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39.

41.

An electric post stands upright by the help of
two strings from the top and affixed to the
ground on either sides of the post. The angle
of elevation of the first string which is of
6 m long is 30°. If the angle of elevation of the
second string from the ground is 60°, then
the length of the second string is : -

(A) 3/3m :
(B) 6J3m

(C) 3m

(D) 2/3m

A solid metallic cuboid of dimensions
1.6 m % 0.8 mx 3 cm is melted and recast into
small cubes. If the diagonal of each cube is

4./3 cm, then the number of cubes that can
be made :

(A) 6000
(B) 600
(©) 6

(D) 60

Pick out the statement which is nok correct.

(A) If P(A) denotes the power set of a set A
and A is an empty set, then
n[P(P(A))] =n(A) + 1.

(B) Empty set is a subset of itself.

(C) The set [x:x= %JP—. me N,ne Nand

n
2 €n <5) is a finite set.
(D) fAgcCand BgC, then AABC C.



42. A={é] wpmib B=P(A), crafle), sawid

43,

44.

X-CMTSE-2024-1 / A

AAB -&@ swwrang; :

(A) ¢

(D) AUB

A, B wppid C crauar Qeupppm
SEWEISHT.  sawrd [(A-B) U (A-C)] N
[ANB] -6@ swwreng.

(A) ANBNC

(B) ANB

(©) (ANBNC) - (ANB)

@ (ANB) - (ANBNC)

@wwb (2, -4) eoLw allL e
il PQ -a1 @m pearliyaraf
P(3, -2) erafle®, wh@prm yerefl
Q yemg :

Q-
(B) (1. 6)
€ (6 1)

(D) (=1, -6)
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42. If A={d} and B=P(A), then the set AAB is

43.

44,

equal to
Aa) ¢

®) (o)
(C) ANB

(D) AUB

Let A, B and C be three non-empty sets then
the set [[A-B) U (A-Q)] n [AMB] is equal
to:

s

(A) ANBNC
(8) ANB

(© (ANBNC) - (ANB)
(D) (ANB) ~ (ANBNC)

One end point of a diameter PQ in a circle is
P (3, —2). If the centre of the circle is (2. —9),
then the coordinates of Q are -

(A) (1, —6)

(B) (1, 6)

(© 6 1)

D) (-1, -6)

P.T.O.



45.

46.

C ayfurs AB aap SUUFLEDE
Qeoadoars @@ sajiard
Qaut L uul () em emeenler sTlbHS
(O TR 2.7 (. auig.alfl e rem )
GLeLEAsT 1. AsLulLEADS. S
Sigliyp &L b 10 Qs.1b. erefle. i
o meverulen smips @en smen e
cuener UFLSH@Eb NG
san serelih@wrer eilsw |

2:5

2:1

(C) 1:5

(D)

1‘[a~51]+22[51-5)+32[5—41]+
2 2 2
1 1 1
4?2 4-—4]+51[4-3—]+ 51[3——3} .
[ 2 2 2 ey

Qgm_flen smBH :

2:10

A) 9N
@ 91
2

101

© =
81
D) -
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45.

46.

A dustbin with a base diameter of 10 cm is in
the form of an oblique frustum of a cylinder.
It is made by cutting a cylinder by a plane
through the point C, not parallel to the base
AB as shown in the figure. The ratio of the
curved surface area to its volume is :

-

(A) 2:5
® 2:1
(©)

(D) 2:10

The sum of the series
11[5—5l]+ 22(5.1-—5]+32[5_41]+
2 2 2
e [41—4.}+52[4—31]+ 62 [31—3] -
2 2 2 :

(A) 91
91
B 5
10
© =
81
D) =



47. Spésam_aupmer g gen enpGlwmengy
6l & g b o Hm b Blen pey Qe
flapiflaedr

Guph/Congmer  Gapid.1 (E))  Gajis 2 (Ey)
u?ﬁ@:ﬂ:@ 30 prisdn M mrser

(A m- RETeT OTEL  eéiten wrgh
gempk den_gsa EenL_ g4
Cptp@sbpme =

(B) B0 UseLeow Bnlell usT oDl LST
BLBgd ean Aeoggd eran Bean_gzd
80

©)  prevuiismer mﬂ i 8 b sgsd
e (Bge

@ G Goem rrait_ @a—_.'_sm_ cra_‘ﬂ

b R BDrE AT Bibers erar

~O-0pe Hlen_gge dlen_gsd

48.

X erens. sflwimen Fpenng Carhbs®.

(4)

@.

(©)

(D)
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Xy Xy oo X, oTenD n @leuriusefien srme

efleuriisafieh 20 sreyliydrefsar
Bmpsred Sigen Gev_Hlena 10-6ugy
Sreyu yerefliwm@ib.
srrefulellmbs sreylierefsafin
eflwdanisatlen FmBHse eruGumgb
@RI mED.

@eaGeumm sreyuiyerefl safl gy b
k-m& sl germGear eV
k-g& @opssrCor sl [
srneflumeng nk oy s Geun
Soag Geopwlear Qsdiub.

20 cramseflen syrsfl 18 W Hmib
@eleaurm caremamyb 3 o6
uGSsTL deLssd yHu syrsf
3 -&@® swLTELD.
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47.

Which one among the following are the
mutually exclusive and exhaustive events ?

Trial Event-1 (E;) Event-2 (Ez)
Selecting one Getting a Getting a
(A) of the twelve month which month which
months has 30 days  has 31 days
Getting an  Getting an
(B) Rolladice evenprime odd Pprime
number numbgr
Tossing two  Getting a . .
© fair coins head N
Getting a Getting a
number number
D Il a di
() Rollwdice which is not which is not
odd even
48. Let x,, xy ... x, be n observations with
arithmetic mean x. Pick out the true
statement.
(A) If a data set has 20 items, then the

(B)

(C)

(D)

median will be the tenth item.

The sum of the deviations of the entries
from the arithmetic mean is always
Zero.

If each observation is increased or
decreased by k, then the arithmetic
mean is increased or decreased by nk
respectively.

-
If the mean of 20 numbers #s 18 and
each number is divided by 3 then the
new mean is equal to 3.

P.T.O.



49.

P erénugl n LEsRSmeTE Derar @
RUPHG ueGsrenrid areiled,
Spssam_apdle oz sflureng ?
(A) P -én S@arpg oL Carammsafien
Fa(pge 180°
(B) P -an ppeevefl i fusefien eramantiéens
n(n— 1)
2
e P -én ppeaeli L usalidn crermenfisans
nn - 3)
2
(D) P -en geuG@aumm Qeuafl&CamenT(pd

180°
n

Spésam.. dung enow euL_L useatled :

EG=AB-CD

(A)
(8) EG=EF-GH

EG

@ =AB;CD

@ W=
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49.

.(B)

50.

Let P be a regular polygon with n sides. Then
which one of the following is true ?

(A) Thesum of all interior angles of Pis 180°

The number of diagonals of P is
n(n—1)
2

(C) The number of diagonals of P is
n{n— 3)

)

=]

(D)

Each exterior angle of P is —— #

Consider the following concentric circles,
then :

(A) EG=AB-CD

(8) EG=EF—GH

AB- CD
2

(€ EG=

- GH

E
&
i

I'_"ﬂ



51.

52.

53.

Epssan oph@ormenwsaie sfureang
oT&l ?

(A) (a=b+cy=(a+b—c)?
(B) (a-b+c)l=(—a-b+c)?

@ (a-b+c)?=(—a+b-c)?

(D) (a—b+c)?=(-a-b=-c)?

L TIW] F&| T LD ITent &

@enenEronEiD.
(A) SiaNGHL USSRISET FOLOTEN
(B)

Dinansgs CETenThISET FLODTEN

@ DS USRS LDHIID
Simansgd CaraThsiaET FIOLME

(D) GlemCGsmenr

-

dx? - Jx + x° - 2 erenug :

(A) Cpflw voemiiys Carenau
(B) @mug udgmiiiysé Careneu
(€©) wiugs veamuys GCareney

@ verginius Gareneu @erenay

X-CMTSE-2024-1 / A
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51.

52,

53.

Which one of the following identities is
true ?

(A) (a—b+c)P=(a+b-c)®

(B) (a=b+c)2=(—-a-b +\c§z ~

(C) (a—b+c)?=(-a+b-c)?

(D) (a=b+c)?=(-a-b—¢)?

A square is a/an parallelogram.
(A) equilateral

(B) equiangular

(C) equilateral and equiangular

(D) right angled =

4 - Jx + ¥ - 2 is:
(A) a linear polynomial
(B) a quadratic polynomial -
(C) a cubic polynomial

(D) not a polynomial

P.T.O.



54, 54. If the graph represents y=ax?+bx +c, then

the values of ‘b’ and ‘¢’ are :

uenruLLOTeng y=ax?+bx+c, eremp
swarurLené Ghlédpy eafle,
‘b whpid ‘< -én wHUY :

AT EEEE I I\=E=EE 3]
U5 ¥ PEUEA JEERY GEREYEEEER N LN e
; R HEN SR
| b ] b RE2ER\EEREFRE2ER JRE
: e pee— Y ik B2 ,

| it I|ij el rtf ! 1?7. 1

3 sni2s | B e alf 521 E 33
TN EEARET S

flHE s [ R L H §SaE s

i EEE N ﬁ”’ an| EEEH RN

| §EuEd Rasdl Kaapy TNRE] isaa) hassd b T H

L T T ST E L K

1 251 i s O |

(A) —% Wwhmd 3 (A) -:.IE and 3

T | 1
B) -3 wppd ~5 B -3and =3

(©)

55.

X-CMTSE-2024-1 / A

i
(€ -3 wpgw 3
O L
2 LopmIL —3
sflwrer sapm eTg 7

(A) Sevarggs Wens up oreradr
n-&@w Jn g eflflgapor erer.

(B) menendg Wans (p(y eTeRm n -HGL0
J2Jn <@peng ellflsupom eren.
Smass Ves W n-&@W
nJ2 g eldigppr cre.

(D) 3.121121121212... eflfgapm eretr.

55,

1
-3 and 3

1
Earld -3

(D)
Which one of the following statements is
true ?

(A) ./n is irrational for all positive

integer n.
(B) 2 nis irrational for all positive
integer n.
(C) ny2 is irrational for all positive
integer n.
The number 3.121121121212...
rational.

(D) is

-~



56.

57

58.
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O

@ .

sflwrer speop Csinds®.
(A)

6

pLés  Quers Hspsflulen
Bapssa, 1.

sapiClevef] S-ab A-em Blyiiy Hlapss
A" eraflé, P(A)=PA) @&
Blmésand Cuflemb.
P(A)2P(A') erem
BoéEL.

P(A)=0.1 bhmd P(A")= 0.09 =8
Bméseb CrflLamb.

(C) eruGumg)ib

(D)

sflunen sapenps CaiBEsH.

(A) uBfwu udgimuys Carenauuiien
Ui ygefluib

CpréGam(h 2ibag aenereuanyuden
uRBwiisaflen oramefsemswureang
Y-2Fens WaulHeuangsls Qurmss
BN LDIYLD.

P(x) erenp ue@mItiLG Careoass,
P(a)=0 wmpmw 3P(a)+4P(b)=0,
erafl®, (x—a)(x—b) eig P(x)-ar
G Sryemi.

@0 vagmuys Carenauulemuig
< uepuys Gameneuull e
umswmsaficn eramanilsons.

(B)

(D)

(x=6), (x—4), (x=2), 0, (x+2), (x+4), (x+6)
erenp 7 efleurmisafian syrsf 36 crafld,
ypHa [b 1T 61 (S, il eu s & afl 6
syrsflwreng :

(A) 38

(B) 385

28.5
4
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56.

57.

58.

Pick out the true statement.
(A) The probability of an impossible event
is 1.

If A is any event in S and its
complement is A', then itis possible that
P{A)=P(A').

P(A)=P(A") always.

(B)

(©)

(D) It is possible that P(A)=0.1 and

P(A')= 0.09.

Which one of the following statements is

true ?

(A) The degree of the zero polynomial is
Zero.

The number of zeros depends on the line
or curves intersecting the Y-axis,

®)

(C) For a polynomial P(x), if P(a)=0 and
3P(a) +4P(b) =0, then (x—a)(x—b) is a
factor of P(x).

(D) The degree of a polynomialks the

number of zeros of the polynomial.

If the mean of the seven observations (x —6),
(x=4), (x—2), 0, (x+2), (x+4) and (x+6) is
36, then the mean of the first four
observations is :

(A) 38

(B) 385

(C) 285

(D) 4

PT.0.



59, e&flwren smbm v ?
(A) @ dlflsappr eramsafian sbge
Al mapmr eress
@ gaer pnhsesd eSfseppT
€T GHT G
(€ YP+ax+s LG L 6 2 LW
o6
(D) J7+10pph |3 - 1eéue
Geean wppBHEeT
60. Uy sflass ppapulls QerEssiLLL
cAeuriuseficn syrsfl srgmb ESHTW
(A) X=A+ [%X },d- I:A
< % f i x—A
X=A+ xc|,d=
(©) Y s c
= Z_f_d_ ] x—-A
@ X =A+ b xc-,d— -
-00o-
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22

59.

Choose the True Statement.

(A) The sum of two irrational numbers is
irrational. ;

(B) All the surds are irrational numbers.

(C)  %x?+4x+4 isasurd of order 6.

(D) J2 + 1and J2 — 1 are conjugate

surds.

The formula for the mean for grouped data
using the step deviation method is :

X=A+ [%%xc],dn I-:A

(B) E=A+[u)¢c] ,d=

(A)

{C] Eﬁj e

C
=
I
>
+
I
A

~00o0-
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